Statement and Courses of Action Questions and Answers for Bank Exams Pdf

In this type of questions, a statement is given followed by two courses of action numbered | and Il. The
candidate is required to grasp the statement, analyse the problem or policy it mentions and then decide

which of the courses of action logically follows.

Statement :

A large number of students have been caught using unfair means during the final year degree
examination.

Courses of action :

I. All these students should be debarred permanently from appearing for any examination
conducted by the authority.

Il. The guardians of these students should be called by the authority to inform them that any

such behaviour in future will not be tolerated.
(A) if only I follows

(B) if only II follows

(C) if either | or Il follows

(D) if neither I nor 1l follows

(E) if both I and 1l follow

Ans: D

Merely a warning for the future won't help, and an extremely harish punishment as debarring

students from exams permantely would spoil their future. So, none of the courses follow.
Question: 2

Statement :

A recent study shows that children below five die in the cities of the developing countries mainly
from diarrhoea and parasitic intestinal worms.

Courses of action :

I. Governments of the developing countries should take adequate measures to improve the



hygienic conditions in the cities.
II. Children below five years in the cities of the developing countries need to be kept under

periodic medical check-up.
(A) if only I follows

(B) if only II follows

(C) if either | or Il follows
(D) if neither I nor 1l follows
(E) if both I and 1l follow
Ans: E

Clearly, the two diseases mentioned are caused by unhygienic conditions. So, improving the
hygienic conditions is a step towards their eradication. Also, periodic medical check up will help

timely detection of the disease and hence a proper treatment. So, both | and II follow.
Question: 3

Statement :

There are been less than forty percent voter turn out in the recent assembly elections.
Courses of action :

I. The election commission should cancel the entire election process as the votes cast are not
adequate to represent people.

Il. The election commission should take away the voting rights of those who did not exercise

their rights.

(A) if only I follows

(B) if only II follows

(C) if either | or 1l follows
(D) if neither I nor 1l follows
(E) if both I and 1l follow

Ans: D



Re-election would demand repeated expense and following course Il would reduce the voter
base permanently. Instead, an awareness should be created among the people to use their right

to vote effectively. So, neither | nor Il follows.
Question: 4

Statement :

There has been an unprecedented increase in the number of requests for berths in most of the
long distance trains during the current holiday season.

Courses of action :

I. The railway authority should immediately increase the capacity in each of these trains by
attaching additional coaches.

Il. The people seeking accommodation should be advised to make their travel plan after the

holiday.

(A) if only I follows

(B) if only II follows

(C) if either | or 1l follows
(D) if neither | nor Il follows
(E) if both I and 1l follow
Ans: A

People cannot be deprived of going to a certain destination merely for lack of berths. Instead it

is the duty of the railway to accommodate all the bookings by all means. So, only | follows.
Question: 5

Statement :

The Indian electronic component industry venturing into the West European markets
faces tough competition from the Japanese.

Courses of action :

I. India should search for other international markets for its products.

II. India should improve the quality of the electronic components to compete with

the Japanese in capturing these markets.



(A) if only I follows

(B) if only Il follows

(C) if either I or Il follows
(D) if neither I nor Il follows
(E) if both I and 1l follow
Ans: B

An escapist attitude does not help much. The need is to compete and emerge successful. So,

only course Il follows.



